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stirps or A stirps is a line of descendants of common ancestry. A stirps (plural: number of stirps or stirpes) includes every descendant
stirpes of the deceased who survives the deceased, or a predeceased descendant of the deceased who leaves living descendants.

In other words, a stirps is a surviving child of the deceased and the descendants of a predeceased child.

Example of a stirps

In Figure 2.1, Anne, Ben and Dan are predeceased children of Thomas and Sally, while Candy is the surviving
daughter. Fred is the surviving son of Anne, and Gina and Hank are the surviving children of Dan. Thomas thus has
three stirps, namely:

1. Anne and Fred form one stirps

2. Candy forms one stirps

3. Dan, Gina and Hank form one stirps.

Thomas: Sally:
deceasad EPOUSE
[ [ | |
Anne: Ben: Candy: Dan
predeceased | | predecea: do xJ!l!;f predeceased
daughter son 500

Fred: Gina: || Hank:
so0n daughter son

Figure 2.1 Stirps include surviving children and descendants of predeceased children

All the children of a predeceased heir together form a stirps and they inherit any part of the deceased's intestate estate
jointly. Within the stirps, all blood relations who are related to the deceased in the same degree will inherit equally. What
this means is that, for example, should one of the children (descendants) of the deceased have predeceased the deceased,
the descendants of that predeceased descendant child of the deceased constitute a stirps and they move up into the place of
that predeceased heir to inherit intestate from the deceased.

succession by
representation
per stirpes

Succession by representation occurs when an heir inherits on the basis of his or her blood relationship with a predeceased
heir of the deceased whose place he or she fills. In other words, in succession by representation a descendant of a
predeceased helr moves up |nt0 the place of the predeceased helr =
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stirps or A stirps is a line of descendants of common ancestry. A stirps (plural: number of stirps or stirpes) includes every descendant
stirpes of the deceased who survives the deceased, or a predeceased descendant of the deceased who leaves living descendants.
In other words, a stirps is a surviving child of the deceased and the descendants of a predeceased child.

Example of a stirps

= In Figure 2.1, Anne, Ben and Dan are predeceased children of Thomas and Sally, while Candy is the surviving
daughter. Fred is the surviving son of Anne, and Gina and Hank are the surviving children of Dan. Thomas thus has
three stirps, namely:

1. Anne and Fred form one stirps
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2. Candy forms one stirps
3. Dan, Gina and Hank form one stirps.

Figure 2.1 Stirps include surviving children and descendants of predeceased children

All the children of a predeceased heir together form a stirps and they inherit any part of the deceased's intestate estate
jointly. Within the stirps, all blood relations who are related to the deceased in the same degree will inherit equally. What this
means is that, for example, should one of the children (descendants) of the deceased have predeceased the deceased, the
descendants of that predeceased descendant child of the deceased constitute a stirps and they move up into the place of
that predeceased heir to inherit intestate from the deceased.

succession by Succession by representation occurs when an heir inherits on the basis of his or her blood relationship with a predeceased
representation | heir of the deceased whose place he or she fills. In other words, in succession by representation a descendant of a
per stirpes predeceased heir moves up into the place of the predeceased heir.

Example of succession by representation per stirpes

In Figure 2.2, John, Sam and Jane each form a stirps. Sam and Jane inherit equally from the deceased because they
are blood relations (the children) of the deceased. The grandchildren (Tim and Tod) inherit by representation
because they move up into the place of their predeceased father, John. In other words, Sam and Jane inherit one-third
of the deceased estate each, while Tim and Tod share the one-third that their father, John, would have inherited if he
were alive, in equal shares. Each grandchild thus receives one-sixth of the estate.
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